
      

 self
super
  self-super
 super-self
  super-super
    hyper-meta

class point(x:Real, y:Real)
   implements Point
   method x:Real  return x
   method y:Real  return y
   method move(dx:Real, dy:Real):Point

      return 
         new myclass(self.x+dx, self.y+dy)

   method equal(p:Point):Boolean

      return (self.x = p.x) and (self.y = p.y)

class color_point(x:Real, y:Real, c:Color)

   implements ColorPoint
   inherit point(x, y)
      translating new myclass(x', y')

      to new myclass(x', y', self.color)

   method c:Color  return c
   method equal(p:ColorPoint):Boolean

      return super.equal(p) and
               (self.color = p.color) 
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   method equal(p:Point):Boolean

      return (self.x = p.x) and (self.y = p.y)

class color_point(x:Real, y:Real, c:Color)
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